2 o= 2010 S _ 20094 = _ _%7:#%(%)
g = z 3 SEI TR
| 3,332,500 Hlg& 3,069,005 Hl& 3,678,468 @ HIg 8.6 £9.4
X8 A 630,500 @ 18.9 583,000 | 19.0 493,000 | 13.4 8.1 27.9
M2l = & 234,101 7.0 222,128 7.2 283,995 7.7 54  A17.6
PSI-UBTIRE | 507,707 @ 15.2 552,904 | 18.0 554,423 | 151 | A8.2 N8.4
TI1E == 1,768,492 53.1 | 1,546,023 | 50.4 | 2,000,550 @ 54.4 14.4 @ A11.6
X g S 191,700 5.8 164,950 5.4 346,500 9.4  16.2 @ A44.7
A kS| A| (CHe| : wHorel %
2= 2010 = _ 20094 = _ _%7:#%(%)
g = z 5 SEI TR ]
| 2,898,000 ®l& 2,662,000 Hlg 3,238,430 dHIg 8.9 | A10.5
X A 630,500 @ 21.8 583,000 | 21.9 493,000 | 15.2 8.1 .
M2l = & 68,369 2.4 73,925 2.8 123,809 3.8 A7.5 | A44.8
PSI-UBTIRE | 507,707 @ 17.5 552,904 | 20.8 554,423 | 171 | ~8.2 N8.4
TI1E == 1,621,424 559 | 1,402,171 52.7 1,850,198 @ 57.1 15.6 | A12.4
PSI-LN S 70,000 2.4 50,000 1.9 217,000 6.7 | 40.0 | A67.7
Q A| 2k Ml : 6,305 ('09 &=ClH| 8.1%F, =/ BClH| 27.95)
- WEA 478690 F15A1 1,933, 5FA 1,754, WA 20, A4 A 1,079
- 5ARA 1,41999 1 FEAIAA 148, AGAEA 61, AWuHA 1,210
- Add =9 1009€
O M2l : 684 ('09 &=CHH| A7.5%, =|SCHH| A44.8%)
- ALY 1879 1 AEA T 7, AR RS 28, FFEFY 31, ARG 18
Aaaf-a49Y 33, oA 70
- AAIA ALY 49699 1 Az 42, o= 200, A= 46, A HETY 31,
Fee 162, &9 21, Add =494
O X HmEAM : 50774 ('09 SECHH| A8.2%, =S| A8.4%)
- HEuEA 47609, EAFA 31794
¥ '09%]F AW EA = 55449 Yo%
- BHEWREAN 4781, EEIFEA 318, FEAtuEA 330, EHEA 114
o= = 16,2142l ('09 HECHH| 15.6%5, =/ SCHH| A12.4%Z
-dd P%ﬂ 11,021, BEXRZF 4,752, 7|5 478
¥ 093 T RS 18,5029 Yo =w
- YwWk=rar 12,107, FE5HEw 5,910, 7]+ 485
O XM S : 7004¢ ('09 S=CH| 40.0% 5, = SCHH| AG7.7%Z)

- ARAF 16599 (A E33g 24 25, st As) o 100, A8« F+4H] 40)
- A9 = A 5359 DX =g 300, 1311&}013@%0&?421 x4 140,

EHEJATHY A9 35, 27 AZA A A 30, 47 EA] IY =14 30)



| — | e
Ews
o SZz (Ek9l : wimrel %
(= =22 (9
5 o= 00104 = _ 2009 _ _ (%)
= z = SEJEIREEEE
A 434,500 dlg 407,005 | Hlg 440,038 | tls 6.8 A1.3
PN L - - - _ _ _ _ —
M2l = ¢ 165,732 = 38.1 148,203 | 36.4 160,186 @ 36.4 11.8 3.5
X| gb 1w 5 A - - - - - - - -
T oHExZ 147,068 @ 33.8 143,852 | 35.3 150,352  34.2 2.2 A2
A &M S 121,700 @ 28.0 114,950 @ 28.2 129,500 29.4 5.9 A6.0
O AHA T (ML) : 1,657 ('09 SECHH| 11.8% S, = SCHH| 3.5%F)
- AAAALTY 28699, dAAALFS 1,3719 4
O ZINEZTF: 1,47122 ('09 &H=ECHH| 2.2%Z, = ECHH| A2.2%)
Eud
[ZIErSE=1A 53 ] (E191 - wiprel %)
(= =242(9
5o I _ 20094 _ _ 2(%)
= z = SHECfH| | H S|
A 191,150 w©l8 195,485 | g 208,189 | Blg | 222 A8.2
PN =LA - - - - — _ _ _
M2l = ¢ 44,082 | 23.1 51,633 | 26.4 57,837 | 27.8 A14.6 | A23.8
x| g 2 A - - - - - - - -
TI1E == 147,068 | 76.9 143,852 @ 73.6 150,352 72.2 2.2 N2.2
A S S - - - - - _ _ _
O Zelz2itfsted : Mo+ 812
- A4H A4 1569%, A AM LY 6699 (s A AL 649 Y-'09T % 6699%)
O SBEFNH7|Z2Y : Me=¢l 3172, I H=TF 1 4719«
- Al g 3179 (1A Y 1, YT 0.5, AR AADT 134, AAFANEET 179, FrAl
O StEXEEHZ2H : M2l 4342
- A9 4399 (|21, A= 16, FugAFEaT 25)
[S7I1HEHSA : XHIWLT| 2] (crel - wiakel %)
(= =242(9
5o I _ 20094 _ _ 2(%)
= z = SHECfH| | H S|
A 243,350 H|g 211,520 | Hlg 231,849 | Hlg 15.0 5.0
X" A - - - - - - - —
M2l = ¢ 121,650 50.0 96,570 | 45.7 102,349 | 44.1 26.0 18.9
NI TR | - - - - - - - -
2 oHEx32 - - - - - - _ -
A g xS 121,700 50.0 114,950 54.3 129,500 @ 55.9 5.9 A6.0




2. E23 Migofat

W 2SI A My

2 = 20104 & _ 20094 = _ _%7:.*%_(%)

g = z SEIETREE S

A 2,898,000 Hg& 2,662,000 Hlg& 3,238,430 HIE 8.9 A10.5
X8 A 630,500 21.8 583,000 | 21.9 493,000 15.2 8.1 27.9
EEAM| 478,600 @ 16.5 442 500 16.6 340,700 10.5 8.2 40.5
- FHEA] 193,300 6.7 254,000 9.5 177,600 5.5 | A23.9 8.8
SEZA 175,400 6.1 186,500 7.0 161,100 5.0 | 26.0 8.9
- 3 A 2,000 0.1 2,000 0.1 2,000 0.1 0.0 0.0
- A Hk 2 H] A 107,900 3.7 - - - - 100.0 = 100.0
=& A| 141,900 4.9 131,500 4.9 140,300 4.3 7.9 1.1
A AA 14,800 0.5 13,500 0.5 14,000 0.4 9.6 5.7
- 2] )k A 6,100 0.2 6,000 0.2 6,200 0.2 1.7 A6
- 2] H) S A) 121,000 4.2 112,000 4.2 120,100 3.7 8.0 0.7
A A= 10,000 0.3 9,000 0.3 12,000 0.4 111 | A16.7
M2l = & 68,369 2.4 73,925 2.8 123,809 3.8 | A7.5 | A44.8
A M 2= 18,727 0.6 25,032 0.9 20,098 0.6 | A25.2 16.8
- A A 4] 748 0.0 596 0.0 761 0.0 255 AT
AL ESY 2,845 0.1 4,074 0.2 4,263 0.1 |A30.2 | A33.3
FEEFY 3,093 0.1 3,188 0.1 4,175 0.1  A3.0 | 2259
A S 1,769 0.1 1,512 0.1 1,935 0.1 17.0 A8.6
A EF49] 3,272 0.1 3,662 0.1 3,662 0.1 A10.6 | A10.6
- 0] 2+5] 7,000 0.2 12,000 0.5 5,302 0.2 | A41.7 32.0
AA| X M| 2| =2 49,642 1.7 48,893 1.8 103,711 3.2 1.5 | A52.1
Akl 2E4= 4] 4,227 0.1 7,000 0.3 8,564 0.3 | A39.6 | A50.6
TAAL A= 20,000 0.7 19,000 0.7 61,314 1.9 5.3 | A67.4
coldH - - - - 1,861 0.1 0.0 |A100.0
AP e 4,626 0.2 2,594 0.1 5,172 0.2 | 78.3 | ~A10.6
=X =Xt 3,111 0.1 4,368 0.2 4,368 0.1 A28.8 | A28.8
=t 15,164 0.5 14,718 0.6 16,962 0.5 3.0  ~10.6
B 2,114 0.1 813 0.0 5,070 0.2 | 160.0 | ~A58.3
A A =49 400 0.0 400 0.0 400 0.0 0.0 0.0
A gk & A 507,707 @ 17.5 552,904 | 20.8 554,423 | 171 | 28.2 N8.4
- RE AR A 476,000 16.4 517,100 | 19.4 478,148 | 14.8 | A7.9 N0.4
- R REA 31,707 11 35,804 1.3 31,832 1.0 |A11.4 N0.4
R S STA | - - - - 33,000 1.0 0.0 |2100.0
- B 5 A - - - - 11,443 0.4 0.0 |A100.0
TI1E=x= 1,621,424 | 559 @ 1,402,171 52.7 ' 1,850,198 | 57.1 15.6 | A12.4
ZHE=Z 1,102,077 @ 38.0 882,505 33.2 1,210,688 37.4  24.9 A9.0
dEExZ 471,504 16.3 487,417 18.3 591,008 18.2 | A3.3  ~A20.2
JI3eE=x3 47,843 1.7 32,249 1.2 48,502 1.5  48.4 A4
A &S 70,000 2.4 50,000 1.9 217,000 6.7 | 40.0 | AB7.7
el = 16,500 0.6 10,000 0.4 167,000 52  65.0 ~A90.1
N E s 53,500 1.8 40,000 1.5 50,000 1.5  33.8 7.0




